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39-4->10->5—>8—>2->11—->1—>6—>T7—> 12> Cs,C11
c3  Cg Cy4 C12

A knot diagranﬂ g € Ciop <G €5 (7

Ideals for irreducible component#ﬂ)f Xpar

I = (w® —u® 4+ +2u—1)

* 1 irreducible components of dim¢ = 0, with total 20 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u? —u®+...+2u—1)

(i) Arc colorings

o ()

ag =

—u” + 4ud — 4ud + 2u
u’ —3u® +u

—u® +5ul — Tut +2u% +1
wl® — 6u® + 11u8 — 6ut + u?

—ul* 4+ 9412 — 30010 + 45u® — 28ub + 2ut + 2u? + 1
wl® — 10w + 38u!? — 68u!0 + 58u® — 22u8 + 4u? — 242
—u®® 4+ 8u' — 23u? + 30u” — 20u® + 6ud —u
wld — 7utt + 15u® — 8u” — 4u® + 3ud +u

—ul® + 1207 4+ = Tud 4+ 2u
a12 = \ 9 — 1107 + 46u'® — 89u!3 + 73uM — 5u® — 2207 + 2u® + 3u + u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u!'” + 48u'® — 228u'? + 544yt — 4010 — 684u° + 28u® +
432u7 — 64ub — 116u5 + 52u* + 32u3 — 12u? — 24u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
c1,C5,C
1> ©5: %6 w0 w4 —2u—1
Cr,C11,C12
C2,C3,C
2,C3,C4 u20_u19+...+2u_1
Cg,Cy
c10 u?® — 5u® 4 - —238u + 95




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs5, C6 v +299 . 46y +1
C7,C11, C12
€2,€3,C4 0 — 27y 4+ 46y +1
€8, Cy
c10 y?0 — 19y + ... — 60634y + 9025




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.957042 4 0.1561191

3.42442 — 2.404181

8.88830 + 6.408591

u = —0.957042 — 0.1561197

3.42442 4 2.404181

8.88830 — 6.408591

u = 1.053290 + 0.2501521

9.25346 + 4.006901

11.03271 — 4.362951

u= 1.053290 — 0.2501521

9.25346 — 4.006901

11.03271 + 4.362951

u= 0.872181

1.81973

3.09740

u = —1.102630 + 0.3068121

—19.0311 — 4.80241

11.07225 4 3.502321

u = —1.102630 — 0.3068121

—19.0311 4 4.80241

11.07225 — 3.502321

u=0.352552 + 0.5630001

15.8889 + 1.83931

6.96532 — 3.246411

u = 0.352552 — 0.5630007

15.8889 — 1.83931

6.96532 + 3.246411

u = —0.313620 4 0.4736871

5.00086 — 1.549321

6.51491 + 4.261611

u = —0.313620 — 0.4736871

5.00086 + 1.549321

6.51491 — 4.261611

u= 0.153630 4 0.3110911

0.036981 + 0.7683971

1.20151 — 8.966201

u= 0.153630 — 0.3110911

0.036981 — 0.7683971

1.20151 + 8.966201

= —1.70374

11.1012

4.65580

= 1.71447 4 0.033741

12.98260 + 3.121951

9.08784 — 4.565081

= 1.71447 — 0.033741

12.98260 — 3.121957

9.08784 + 4.565081

19.2194 — 5.27851

11.51082 4 3.235261

= —1.73483 — 0.061981

19.2194 + 5.27851

11.51082 — 3.235261

= 1.74996 + 0.07966.1

—8.82272 + 6.426671

11.84974 — 2.467471

u
u
u
u = —1.73483 4+ 0.061981
u
u
U

= 1.74996 — 0.079661

—8.82272 — 6.426671

11.84974 4 2.467471




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1,Cs5,C
1,65,C6 u20+u19+"'—2U—1
C7,C11, C12
c2,C3,C
2,C3,04 UQO—U19+"'+2U—1
Cs, C9
c10 w?® —5ut? + - —238u+95




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1, G5, Ce v +299 4+ 46y +1
C7,C11, C12
C2,C3,C4 y20_27y19++6y+1
€8, C9
€10 y?0 — 19y + ... — 60634y + 9025




